Вариант 1
1.Укажите верное равенство:
1) (x+4) * 3=x+12;
2) 6(m-10)=6m+60;
3) (2-a) * 8=16-a;
4) 4(k+12)=4k+48
2. Упростить выражение 13 * z * 6
1) 18z    2) 78z,  3) 78,  4) 68
3. Упростить выражение 15х + 12+ 6х:
1) 33х,   2) 15х+ 18,   3) 21х+12,   4) 33




Вариант 2
1.Укажите верное равенство:
1) (m+7) * 2=m+14;
2) 11(x-10)=11x-110;
3) (15+y) * 3=45+y;
4) 5(12-c)=60+5c
2. Упростить выражение 11 * у * 7
1) 17у    2) 77       3) 77у      4) 117у
3. Упростить выражение 14х- 5+8х:
1) 17х,     2) 22х+5,  3) 27х,     4) 22х-5

